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grandfather. He was able to trace many generations. If
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Find the geometric means of each sequence.
O ag
025, 2, 2,2, 64

4

-1

Q=01 <« Q=025 544 [C L
5-1
Q, - 025 (r) VETY WP AT S PVES DR By
Yy .
64 = 0257 14 g3
4 SN LRt
e & 025, L, % /L6, 64
= it
L S . ™ -
e\ T3 025, =17 24" Tl 64

Adlize JSJ o sigh bluwsdl s>

Q, Ay
3, 375 <=.375 9 3 4w Garwsin Gabwg A>
Find two geometric means between 3 and 375.
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GAMES Shaima arranges some rows of dominoes so that
after she knocks over the first one, each domino knocks
over two more dominoes when it falls. If there are ten rows,
how many dominoes does Shaima use? 1023
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Find the sum of each geometric series.
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